logarithmic V , Vo-data uy=(\ - 550) / 50
logV =(logMo+ logLe)/2 logMo==0,35[u)~Uss?
logV, =logV + 0,02 logL o=—0,35[uy—Us7(?
log [Vo, V , Mg, Lo ] Adaptation: Ay =557

logarithmic V., Vo-data uy=( - 550) / 50
logV =(logMo+ logLe)/2 logMo=-0,35[u\-Uss?
log Vo = logV. + 0,02 logL o=—0,35[uy~Us7q?
log [Mo/V ,Lo/V ] Adaptation: Ay =557

o 545227570 . 545227570
L maximum maximum
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logarithmic V , Vo-data uy=(\ - 550) / 50
logV =(logGy+log )/2 logG,=—0,35up—Us>]?
logVo=logV +0,19 log =-0,35u)-u J?
log [Vo, V., G, Adaptation: A =557

logarithmic V , Vo-data uy=(\ — 550) / 50
logV =(logGy+log )/2 logG,=-0,35p—Us2)?
logVo =logV +0,19 log =-0,35u)-u ]?
log[Go/V, IV ] Adaptation: A =557

o 557
maximum maximum
1 log(Vm)=-0,19 1 log(Vm)=-0,19
Vin=0,63 N N Vi=0,63
Threshold Threshold
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logarithmic G, logarithmic & , G,-data uy=(A — 550) / 50
logG =(log +logM)/2 log logG =(log +logMg)/2 log =-0,35lu\-u ]2
log G, = logG + 0,08 log M o=-0,35p~Us5? log G, =logG + 0,08 logM o=-0,35[u\~Us.?
log[Co, G, ,Mo] Adaptation: A =520 log[ /G, Mo/G ] Adaptation: A ,=520

o 545 )
maximum maximum
1 Mo 10g(Cm)=-0,08
m=0,81 m=0,81
Threshold Threshold
-1 =000 [ Of-~""""->“-""-"------c £20,00
1 ti=0,0000 1j=0,0000
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logarithmic L , Lo-data uy=(A — 550) / 50
logL =(logMy+log )/2 logM,==0,35u)-u ]?

logarithmic L , Lo-data uy=(A — 550) / 50
logL =(logMy+log )/2 logM;==0,35[u\-Uss?

logLo=logL + 0,08 log =-0,35u)-u:-]? logLo =logL + 0,08 log =-0,35u)-u ]?
log[Lo, L, Mo, Adaptation: Ay =570 log[Mo/L, /L] Adaptation: A =470
o 545570 1 545570
maximum maximum
4 log(Lm)=-0,08 1 Mo/l L log(Lm)=-0,08
Lm=0,81 Lm=0,81
Threshold Threshold
-11 =000 [ O~ -~--"----F=g-------¢

t=0,0000

—21-3 L,L 1 O 1

-1 0 1 8,
500 550 600
,5¢

500 550 600 700nm

DEABO-8A 545570595




